Chapter One

1.
Convert the following number from decimal to binary:  333

2.
Perform each of the following addition in binary, showing the carry.  Show the decimal value of the operands and the result for both


a.
Unsigned numbers


b.
Signed (Two’s Complement) numbers


1 0 0 1 1


1 0 1 0


0 1 0 1 1


0 1 1 1
3.
What decimal value do each of the following 8-bit binary number represent in each of the following notations?







1 0 0 1   0 1 1 1

0 1 0 1  0 1 1 0


a.
Unsigned numbers


b.
Signed (Two’s Complement)


c.
BCD

4.
Compute the difference of the signed numbers


a.
0 1 1 0  -  0 0 1 1

b.  0 0 1 0  -  1 1 0 1

Show the work and indicate both the binary and decimal values.

